P15 PRACTICE TEST-UNIT 789 - TEST 2

. Choose the word that has the underlined part pronounced differently from the
others.

1. A. limit B. figure C.iron D. billion
2. A. great B. available C. raise D. said
3. A. decreased B. used C. reached D. developed
Il. Choose the word (A, B, C or D) with a different stress pattern.
1. A. holiday B. attraction C. heritage D. rainforest
2. A. tourist B. resort C. mountain D. package
lll. Choose the best answer.
1. 0f it very hard, the streets flood.
A. rains B. will rain C. is raining D. would rain
2. | notified the bank that | my address.
A. was changing B. have changed C. had changed D. change
3. We'll be late unless we now.
A. leave B. don't leave C. had left D. have left
4. ‘Did you tell Carol where us this evening?’ -Yes, | did.’
A. should she meet B. she to meet
C. she meets D. to meet
5. When we were children, we skating every winter.
A. had gone B. are used to going
C.used to go D. were going
6. Can | have a pizza, a dozen eggs and a of lemonade, please?
A. bottle B. jar C. piece D. tub
7. 1 would like a of broccoli and two carrots.
A. bunch B. clove C. slice D. head
8. You should eat more fruits and vegetables if you to lose weight.
A. will want B. want C. would want D. wanted
9. | think we should avoid traveling at times. It is more expensive.
A. mount B. peak C. high D. top
10. My father always gets up very early before and goes jogging in the local
park.
A. sunrise B. sun rising C. rise sun D. rising sun
11. The noodles look watery. You should first have them until there was no
water left.
A. stirred B. drained C. simmered D. marinated
12. The city more than 3 million tourists per year.
A. likes B. makes C. does D. attracts
13. Young people in my city often chill out over KFC meals at
weekends. For them, fast foods awesome.
A. feel B. taste C.try D. eat
14. The boy is some strawberry jam on a slice of bread.
A. spreading B. stewing C. steaming D. roasting
15. It won't be long. I'll just get a of broccoli, and a of grapes.
A. clove.. .can B. clove.. .handful
C. head...bunch D. bunch...head
IV. Put the verb into the correct form.
1. If my grandfather (be) still alive, he would be a hundred today.
2. 1 (offer) to give you a lift if | had my car here.
3. Where (youl/ choose) if you could live anywhere in the world?
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If you (drive) from London to Glasgow, which way would you go?

If I (live) out of town, | (take) up the garden.

Give the correct form of the words in CAPITALS to complete each of the
following sentences.

LOd

1. I'm very happy that my parents let me make my own DECIDE
about holiday destinations.

2. British cavers have made some important about DISCOVER
Son Doong Cave.

3. , our flight was cancelled and we had to spend one LUCK
night at the airport.

4. The Opera House is one of the most popular tourist ATTRACT
in Sydney.

5. They live in a remote area which is except by horse. ACCESS

VI. Read the passage and choose the correct answers.

Tourism plays an important part in the development of every country’s economy.
Tourism’s positive economic impacts include jobs creation. Jobs such as tour guides, or
hotel employees, etc. are a direct result of tourism. The increase in the number of
tourists in a country also creates more jobs in retails, food production and transportation,
etc. In addition, tourists’ spending money while travelling help stimulate the economy as
it increases foreign exchange and results in local people spending more money. The
development of tourism also encourages investment from big corporations and provides
opportunities for other small businesses. This will generate more tax revenue which in
turn can be used by government to improve public infrastructure such as road, hospitals,
and schools etc.

1. What is tourism important for?
A. The development of every country’s politics
B. The development of every country’s economy
C. The development of every country's diplomacy
D. The development of every country’s defence
. What kinds of jobs are a direct result of tourism?
A. Tour guides, hotel employees B. Drivers, shopkeepers...
C. Cooks, waiters... D. Artisans, engineers...
. Why does tourists’ spending money while travelling help stimulate the economy?
. Because it increases the value of money and results in local people spending less
money.
B. Because it increases the value of money and results in international people spending
more money.
C. Because it increases foreign exchange and results in local people spending less
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money.
. Because it increases foreign exchange and results in local people spending more
money.
. What can the development of tourism encourage?
A. Investment from big corporations B. Investment from small corporations
C. Investment from international businesses  D. Investment from local businesses
5. What is tax revenue used?
A. To improve governmental infrastructure B. To improve governmental superstructure
C. To improve public infrastructure D. To improve public superstructure
VIl. Complete the second sentence so that it has a similar meaning to the first.
1. The exam was so easy that we all got it right.
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2. Although he wasn'’t experienced, he got the job.
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3. Since you haven't finished your homework, you can’'t come with them.
4. Nigel hasn'’t got a satellite TV, so he can’t watch the game.
5. Walking home alone is not a good idea.
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